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1. 𝟑𝒂 + 𝟐𝟒 = 𝟗

2. 𝟏𝟓𝟎 − 𝟏𝟎𝒃 = 𝟐𝟒𝟎

3. 5c +13 = 7c – 7

4. 10d + 22 = 8d + 15

5. 4(2f + 5) = 8f + 5

6. 3g + 12 + 8g = 9g + 4

7. -2(3h – 4) = 14

8.
𝟐

𝟑
𝒋 = 𝟏𝟒

9. −
𝟏

𝟒
𝒌 + 𝟖 = 𝟏

10. 𝟓𝒎+ 𝟏𝟖 = −𝒎− 𝟑𝟎

11.
𝟑

𝟓
𝒏 + 𝟒 = −

𝟒

𝟓
𝒏 + 𝟐𝟓

12. 5(p + 7) – 7p = -p + 40

13. 5(q – 4) = q – 20 

14. −𝟐𝒓 + 𝟏𝟖 = 𝟏𝟖 − 𝟔𝒓 + 𝟒r

15. 𝟏𝒔 + 𝟐 + 𝟑𝒔 + 𝟒 + 𝟓𝒔 + 𝟔 = 𝟕𝒔 + 𝟖 + 𝟗𝐬 + 𝟏𝟎

16.
𝟏

𝟐
𝒕 =

𝟏

𝟑
𝒕 + 𝟒 (need common denominators!)

17. 𝟒 𝟐𝒖 + 𝟖 − 𝟓𝒖 = 𝟑 𝒖 + 𝟏𝟏 − 𝟐

18.
−𝟐𝒗+𝟖

𝟓
= 𝟒

a = -5

b = -9

c = 10

d = -7/2

No sol.

g = -4

h = -1

j = 21

k = 28

m = -8

n = 15

p = -5

q = 0

Infinite solutions

s = -6/7

t = 24

No solution
v = -6
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